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FIRST PART

Child Development and
Pedagogy

1.  What will be your effort for quality based
inclusive education for all ?

(A) Child-centered, relevant and
justified process of learning in social
context.

(B) Sensitivity towards all the needs of
the children.

(C) Improvement in self qualification
and teaching methodology.

(D) School should be complete with all
the high technique instruments.

2.  Which schools of quality education for
rural children were opened by Central
Government ?

(A) Model Schools
(B) Sainik Schools
(C) Navodaya Vidyalaya
(D) Kendriya Vidyalaya |

3.  The Micro teaching is related with :
(A) Teaching method
(B) Teaching skills
(C) Teaching models
(D) Teaching techniques

a1 faetd

Sin|
ERMEIRIS]

|

Heft wr= ) Ul S e yee

& o s

1S CARTI

(A) ETEI-h(%
=rifed

H, TS ®Y 9 YT &

a?@%aﬁuﬁmmm|
|

(B) ==l it Tt eavamars 1 qid %

(C) T4 =1 Jaiforew Frgar 9 foeo-vgfd

i AT
(D) STeT o 3
CRIEIR

TTHO &=

F=d TR B

AT |

dl

7 AT el SUHT0T g

(A) wisd

22
p== ¢

(B) #f=
(C) FarRa
(D) F=4

£
-

HaH foreor g

T B R

(A) ~Torzgor 3

ksl

(B) fm&m:ra@
(C) Tonerer wffmei &

(D) Tararor wiafaai |9

SPACE FOR ROUGH WORK / 7% =14 & for

6210/ TE-SET/GLE-E

e

Set - A




4. According to the principles of 4.
development which of the following

statements is true ?

(A) All the processes of development
are not inter-connected.

(B) It is a discontinuous process.
(C) Development is always linear.

(D) It does not proceed at the same
pace for all.

5. Propounder of Reinforcement Theory of 5.

Learning :

(A) E. Thorndike
(B) C.L.Hull
(C) LP. Pavlov
(D) Kohler

6. Co-curricular activities are not helpful : 6.

(A) In school official work

(B) In deved]_.gg;ng p_@;gg}flar %L@astgl
(C) Indeveloping worah@es | o=
(D) In mamtaining diseiplineyy| T

7.  When a child gets bored while doinga 7.

task, it is a sign that :

(A) The child is not intelligent.

(B) The child is not capable of learning.
(C) The child needs to be disciplined.

(D) The task may have become

mechanically repetitive.

fora % ffgiT % e e 8 9 F=E-1

99 A § 7

(A) fol &1 T wiwmanel & o= Hey
TEFWE

(B) ¥E R Ter arel WieHa T €

(C) o e Yl g
(D) =% Yt % ford T i & 7 A e

g &

ﬂﬁﬁ?fﬂmﬁgﬁw%

(A) &

FEIEED

(B) WHigSL T

(C) 3T

o, T

(D) +®

gh

gEFeH A e e €

(A)

(©)

3 wEierdt HE |

(B) :I =t % fome o
ifats el % fara o

(D) TR i i g

ary feapd| g 1 Sd THY o= 39S HeYE
=1 9 FE[¥Ed T %

(A) =1 3fgAm 4 2|

(B) =4 [ T I &Hdl TE €

(Q) 1 STRTEE € I SETEH 2 |
(D) 7ifseE 9 & <etEn 1 @R

SPACE FOR ROUGH WORK / 7% &1 %

Set- A 4

fora sz

6210/ TE-SET/GLE-E




8.

10.

11.

A teacher asks questions during
classroom teaching to students. Why ?

(A) To have understanding on concept.
(B) To maintain discipline in the
classroom.

(C) For simplifying the classroom
teaching process.

(D) To attract the concentration of
children.

Determinates of individual differences in
human beings are related to :

(A) Differences in environment
(B) Differences in heredity

(C) Inter-relation between Heredity
and Environment

(D) None of the above

Whom does the teacher assess during his
classroom transaction ?

(A) Students

(B) Text Books

(C) Self ]
(D) Students and Self Both

Which is the shortest term to assess and
evaluate teaching work ?

(A) Measurement
(B) Test

(C) Examination
(D) None of these

10.

i

|
1t e

RCIRIE NN E:
(A) =i % [FETIROTES T9% F T 8
(B) HEN-FE H AT T |

j
!
|
mﬁrw%%ﬁmﬁwmﬁ@w
I

(©) Far-fo 1wl gH 7

[y

(D) == &1 B ki T % ford |

7§ Safae fasmnd fruifa 2 & -

(A) AR e &

(B) sTIAwHA Pomraraii |

(C)  wFiERm !aﬁx AafvwT & st=
W:Eﬁﬂ'ﬁ

(D) &7 & #f§ 7

forsep, o1 e e & < frer & @

feFTet tierT e &2

(&), e

(B). TregEl

(Cpmerd 1. | |

(D) forenfefal {6 e 2 1

e #w6 #1 pikem @ qereT w0 %

fﬁﬁﬁa@aﬁa’raﬁﬁqﬁ%?

(4) "ww ||

(B) e ()|

© vwim ||

(D) ¥ & = A&

SPACE FOR ROUGH WORK / T% %1d % ford 3z

6210/ TE-SET/GLE-E

Set - A




12.

13.

14.

15,

16.

Most reliable scale of measurement is :
(A) Ratio

(B) Ordinal
(C) Interval
(D)

D) Nominal

A child can think logically about object
and event. This is one reason of Piaget of
the stage :

(A) Sensor motor

(B) Pre-operational

(C) Concrete operational

(D) Formal operational

Where do the children learn ?
(A) In house

(B) In school

(©) In society

(D)

Disability means :
(A) Interruption in the success of

At every place and every moment

individual
(B) Interruption in the interaction
individual and

environment I

between

(C) Physical linferruption due_to

defective tissues

(D) Work is not completed in time

Children should be taken for tour

because :

(A) Children enjoy in tour.

(B) By it children feel happy.

(C) Children do not make noise during
tour.

(D) By it children learn more.

12:

13.

14.

15.

16.
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17. The need of value education is only :

(A) at primary level
(B) at secondary level
©

(D)

at college level
at all the above levels

18.  The best method to study the growth and

development of a child is :
(A)
(B)
(©
(D)

Psychological method
Comparative method
Developmental method
Statistical method

19.  Gaurav is frequently using signs for
talking. Being a teacher, you will arrange
his education in :

(A) a separate institute as per special

needs

a common school with all

(B)
(C) a common school with selected
students

(D)  Under specialis

20. Which method is more effective in

learning for students ?
(A) Lecture method

(B)
(©
(D)

Learning by doing method
Text book method

Demonstration method

17,

18.

19.

20.
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21. Present Examination system mainly iy El‘ch'"f & Yool A €9 9
measures the objectives of q& Fi Fel T WY F B
domain.

(A) Cognitive (A) | | IS

(B) Affective (B) || WETHE

(C) Psycho-motor (C) | | =i

(D) None of these (D) '&Fl“af Y FIE Tl
22. Questionnaire method is : 29 E&’:ﬁfﬁﬁ fafy 2 -

(A) Cheap (A)| ==t

(B) Difficult (B) | | =fea

(C) Scientific (©) || A

(D) Creative (D) f: EERIRC

23. Child who steals is called : 23. ERI|FA AT S FHead ©
(A) Problematic child (A) EHHHIrHch EIGED
(B) Retarded child (B) | | A<dfG =eth
(C) Backward child ©) || et are=
(D) Gifted child (D) | | wfsmamett aers

24, A person believes that nurturing strongly 24, Qﬁ:’i{lﬁﬁ YA oo o faae H 3Ea! waiy
influences the development of his child. I H{T THET 7A€ 9 3 49 fEas
He would not agree with the importance HE | 3THERd € 7
of : ':

(A) Genetic factor (A) Wﬂaﬁﬁ'— HIH

(B) Psyehelogicalsfactory | (B) | | e wE
(C) Emetional factor ; (C) | | HreFATHF FILE

(D) Allgheaboves | (' [, (D) || 3wl w5

25. Success of Inclusive education depends 25. @ e =t Aerdr AR S €

upon :

(A) Community support (A) ﬁmqﬁ'q; HEGIT 0T

(B) Attitudinal changes among (B) | | forari =t srfvgfa. ¥ sgeme =
teachers -

(C) High quality teaching-learning (C) |“€EH goit = Toragor-aferm T w
materials '

(D) High quality Textbooks (D) | | 5= vt % wraagEE ™
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26.

27.

28.

29,

30.

Students should be treated by his
teacher :

(A)
(B)
(©)
(D)

As a person unknown to him
As his distant relatives

As his children

All the above

The success of teaching lies in :

(4)
(B)
(©)
(D)

Vygotsky

Excellent qualities of teachers

Enforcing strict discipline in class

Achievement of students
Aims of education

proposed that

development is a product of :

(A)
(B)
(©)
(D)

Social Interaction

Formal Education
Assimilation and Accommod
Genetic factors

child

ation

Young learners should be encouraged to

interact and work with peers in the

classroom so that :

(4)

(B)

©

(D)

Answers of the questions will be

learned with peer group
They learn social sk:llsm the ¢
of study

5
Discipline_ g@gﬂeeﬁ\mlmd J-@*‘lhe= .
i = L

classroom

urse

To ensure education for all, the teaching
plan of teacher should have :

(A)
(B)
(©)
(D)

Flexibility
Self-respect centered

Conscious and sensitive
All the above

l Tt

26.

27.

28.
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SECOND PART / fgdra v 36. STy T A

Hindi / f&< (a) | fersi %1 e e # Site F
(B) | |wifirer ded & WE FIA
31, YOl MG T (©) | feremii =t = we
(8) T T T (D) || i e
(B) oTer T
(©) foega T T "

(D) 37. ‘Ga ($F w W WA FEE@ H BA-H

A e 27
32, frefafes 8 & $F-m gadi-=em ' 72 (&) gaﬁ:{_ﬁm
&) T (B) -Ewwr@m
m ()| Er=fEER F FMH FH
T s (D)| | ¥ @ gL T
(D) ‘= |
38. 'W?'Wﬂ%:
33. taren, e wd e § W el € (A)| | TeEH
(A) "= (B)| | drTEe
(B) (©)| |
(€) W= - o= )| ==
(D) #fa |

39, ‘T ST Rl Y T

34, ‘w9 ' form qeEt = e €7 (]| v
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41.

43.

44,

45.

f=fafEd 4 9 #H-91 99 @ g2
(4)
(B)
©
@) =

ql

ol e

STUTAT FIVE o STavid -2 A1 § 2
(A) T - Fe

(B) Ue - ferm

(C) =m=id =T

(D) <@

Y WU a9 Y S0, 5
(A) & H 5

(B) I H v A |
(C) 7+ Ffy=m 219 &)
(D) = gfe & wdt &)

‘F=31' v Tavmw & ®y ° 5w armm o

IH §IN§ 2

(A) 3Te3], GH S |

(C) 7% T g g I
(D) 37=318, a5 14l &1 9w |

I T :
(A) ¥eE TE
(B) S=EROI WA

(C) Torami =1 qufen & wee T a1 Y25

(D) fogam

46.

47,

48,

49,

50.

Fe=fafaa 1
(A) TAwe
(B) we&w
(C =
(D) Ha

| 79 % A
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51. ‘Wﬁﬂam’waﬁ‘%: B&. ‘ 3
(A) 3% HE ﬁugﬁfﬁ:@%?
(B) T FL, 7 T HL HEAl (A) z:srrﬁ»m
(C) T WY J &I E (B) gf«—rm L =
(D) TH WY | 9 T FHLA (©) @ﬁﬁmﬂe_ﬂ?@mn
(D) W@I#ﬁ%?ﬁ
52. oA H Frefefea § & FE-H0 0 AE A ? = ‘
(A) TS =R 57. Safef e 1 S e el ?
(B) ITE-3E (a) |foegd
C) waE (B) |Eet el 1 = el
©) o |
(D) ST :
(D) | e
i 58. e T AR :
(a) Tofas s+ ved =i R o 1
> Wﬁm B) | wam
(C) T T 0 e
(D) e =i Rl 5 ;Wf‘ﬁ
54. ‘ﬁ'aﬂiaﬁ“q%: 59, im@.wﬂﬁwwi)
T (A) || erE
S (B) | Fre=
() a@g N A 'E & 4
D) 3@ e l o)| | s
55. T § AFvsEETEE TEAH BA-H €2 a5 Eﬁﬁﬁ?—mwﬁ e
(A) HHA || w
(B) (B)| | T
(=) 5% (C);‘—Tﬁ‘dﬂ
o (D) | T
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518575

THIRD PART / Qﬁ’Tq HT 63. Hesaid, “Neyer live beyond your means”.
: The indirect expression of the above
English / 31 IE] sentence is :

(A) He told us that we should never live
beyond our means.

61. Choose the correct sentence : 3
(B) He toldl|us that we are not to live

(A) The children go to school. bEgang out ez,

(C) He tolfl us that we must not live

(B) Ifyou are seriously ill you will have beyond our means.

to go to the hospital.
(D) He tolld us that we cannot live

(C) The stranger went to school to beyond our means.
complain about the behaviour of one
of the pupils.

64. Select the gloup of words that is most

(D) Iam going to hospital to visit a sick - nearly similaf in meaning to the following
friend. idiom. :

To take a rain - check

62. Somebody cleans this room everyday. (4) Toanalyse a problem deeply

Which of the following sentences
converts the above sentenge into its (C) To dec
passive sentence counterpart ? ] b |

(B) To preIire for a tough encounter

ine an offer

! (D) Te bring or collect money
(A) This roomwhas "been g &
everycay. 65. Choose the word with a spelling error.
(B) This room is being cleaned (A) Minor
everyday. (B) Miner
(C) This room is cleaned everyday. (C) Impostar
(D) This room is clean everyday. (D) Imposter

SPACE FOR ROUGH WORK / 7% &1 & fog sz
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66. Find the correct modal auxiliary to 68.

complete the following sentence in order

to indicate logical expectation.

If this is litmus paper, it
blue.

(A)

(B)

turn

might
should
must

can

69,

67. Out of the given alternatives, choose the
most appropriate one which changes the
degree of comparison in the following

sentence from the superlative to the
positive without changing the meaning
of the sentence.

‘Ajit is the smartest boy in the class.

(4)

(B)

©

(D)

Very few boys. in the class are as
smart as Ajit., :

No 'C_i'ther Iapy in the class is*aéi smart

as Ajit. i .

Many boys in the class are as smart
as Ajit.

70.

Ad{l the appropriate tag to the following
sentence by selecting one from those given

belpw the sentence.

We¢  seldom see them nowadays,

?

(A) | didn’t we ?
(B)|| isn'tit?

(©
(D)

do we ?

have we ?

‘A bird in the hand is worth two in the

budh’ is an idiom which means :
(A) | Not to be important or practical.

(B)| It is better to keep something that
you have than to risk losing it by
trying to get much more.

©)
(D)

To be aware of problems,

To prepare for the worst in future
life.

The bus was full. We couldn’t

Select the phrasal verb to complete the

aba ve sentence.
(A) | getby

(B)| get away

Ajit is as smart as any other boy in (C)| | getup
the class.
(D) | geton
SPACE FOR ROUGH WORK / 7% &7 & fora wvg
Set- A 14
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i 88

72.

73

The correct transcription of the word
‘hers’ in Standard British English (R.P.)

18 :

(A) ha:ts
(B) ha:s
(©) ha:Z
(D) ha:dz

Complete the following sentence using

one of the phrasal verbs from the list.

‘We’ve bought a new house’. ‘Oh, have

you ? When are you " 3

(A) getting in

(B) moving in

(C) turning up

(D) showing off

We ____ dinner if only John
here

Complete ﬂ@%@eme. oy ins r@ﬂ%‘?

Pa f‘@@ co@cﬁltem%
by choosing from ‘the list #w!mua&i

below :

(A) could start, were

(B) could have started, was
(C) would start, had been
(D) could start, had been

74.

1D

76.

Fill in the blank with the correct

conjunctipn (from the list provided) and

complete] the following sentence :

Mohan i$ tall, his brother is

short.

(A) and

(B) yet

(C) but

(D) so

He said, [fyou mustn’t tell anyone”.

Identify fhe incorrect indirect expression

of the above sentence.

(A) Hd said that she mustnt tell
anyone.

(B) Hd said that she wasn't to tell
anyone.

(C) Hg warned her to not telling
anyone.

(D) Hd told her not to tell anyone.

(i) = It geans ‘a little sound’.

(ii) CcEsists of fourteen lines.

(i) Lifes are usually in iambic

pehtameters.
(iv) Pefrarch, Spenser and Shakespeare
gaye the basic form to it.

Regardmg the above four features choose

the most appropriate statement.

(A) NQq. (i) and (ii) are related to Ode
anf No. (iii) and (iv) are related to
Eldgy.

(B) NQ4. (ii) and (iv) are related to Epic.

(C) NQ. (i) and (iii) are related to Ode.
(D) Alll.“the features are related to

Sonnet.

SPACE FOR ROUGH WORK / T% &4 % ferd v
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77.  "Alyric poem, usually of some length, the 80. | To get success in UPSC civil sert

main features are - an elaborate stanza exams, Ramesh had to
structure, a marked formality and Complete the above sentence by sele
stateliness in tone and style and lOfIﬁ}' the correct idiom from the foll(}wmg
sentiments and thoughts”. (A) burn his bridges
The above statement most appropriately (B) burn the midnight oil
describes :
(C) burn the candle at both ends
(4) Elegy D) burn his fi
(B) Ode (D) burn his fingers
(C) Sonnet i
PR~ s 81. | The correct transcription of the w
= Eye ‘loin’ in Standard British English (F
is :
78. Match the words given in column ‘A’ _
. : : = (A) léin

with their most appropriate meaning in
column ‘B, (5): 19.0n
(a) Grate (i) . resolution (D) ldan
(b) Great (i)  to welcome

somebody 82. |Insert the correct preposition to comp
(c) Greet (iii) wvery large the following sentence from the gi
(d) Grit (iv) rub into small alternatives.

pieces The teacher has a chair to sit
Code : (A} in

(f’) (b) {c) (é} (B) _over

(Al G (i) o  op®

5) gitif @l) (i) (I‘W} ik roun
gl o o) (o (D) around
(D) @) @(v) () (i)

83. |7An exaggeration for emphasis” i

79. Antonym of the word ‘Glut’ is : feature of :
(A) Shortage (A) Pun
(B) Shout (B) Alliteration
(C) Shroud (C) Hyperbole
(D) Sick D) Hypocorism

SPACE FOR ROUGH WORK / T &4 % forar =z
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84. Which of the following is not an 87, Wallow, bask, luxuriate, indulge are
appropriate synonym of the word synonyms of :
‘fraternity” ? (A)
(A) brotherhood
(B) associate

reveal
(B) revere

; 1
(C) association & i

(D) society (D) reverie

85. ‘A reward of ¥ 1,000 was given to him by
the police.”

88. One word substitute for ‘Government
department of |public money” is :

- t . - r
Which of the followmg correctly (A) Exchequt

expresses the above sentence in active

Sohop (B) Gazette
(A) The police gave him a reward of (C) Gaggle
< 1,000. (D) Arsenal
(B) The police has given him a reward
of T 1,000. _
: : 89. Choose the indorrect sentence.
(C) The police is going to give him a
reward of T 1,000. (A) Could yolu fill in this form ?
(D) The police was to give him a reward (B)  Could yot fill this form in ?
of ¥ 1,000. ' (C) They gavk me a form and told me
to fill in if.
86. Choose the correct statements regarding (D) They gave me a form and told me

Pun. to fill it in|

(i) It is used se iously as well as for ]
comic purposess 9‘0

(1) Itinvolves a playupon words. 1 T

(i) The words (in Pun) are either

‘Mohan gets up everyday at five in the
‘moming.
The tense of th¢ underlined verb in the

identical in sound (homonyms) or
; above sentence pxpresses :

very similar in sound.

(A) Only (i) and (ii) (A) planned action
(B) Only (ii) and (iii) (B) habitual attion
(C) Only (i) and (iii) (C) compulsioh

(D) All the statements are correct. (D) a permandnt truth

SPACE FOR ROUGH WORK / T% &Td & forgr e
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FOURTH PART
(A) Mathematics/Science

91. A convex mirror is used to form an image
of a real object. Then wrong statement
is :

The image lies between the pole and
the focus.

The image is diminished in size.
The image is erect.
The image is real.

92. If the interior angle of a regular polygon

exceeds the exterior angle by 132°, then
the number of sides of the polygon is :

91,

=gl W
(31) Tfurd/ fem

T 39 SO 1 IGIT U AR
yiafes ¥ & & fog e &, @ e
2.

(A) wfafama ya 3 wE €=

yfafara e ° BT 2
yfafsra dien 21
wfafers ar=fas 21

(B)
©

(D)

., af feet Frafad agys 1 sl
FoT F 132° HAfeF &, T qgdS B T
H&=A B

(A) 15 (A) 15
(B) 14 (B) 14
(€ 13 (C) 13
(D) 12 (D) 12
- I ]
93. glfithe ratio of the corresponding sides of 9. e A TR T FTET YA Fl
two similar triangles is 2: 3, then the ratio F U@ 2: 3 T A TAF ATET A
of their corresponding altitudes is : ST B
(Ay 1:5 (Ay 115
B 4:9 (B) 4:9
(C) 4:6 (C) 4:6
(D) 2:8 (D) 2:3
SPACE FOR ROUGH WORK / 7% &Td & fora =71z
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94.

95,

96.

x z
hcy+z= ’1iz:b;x+y:C;
1 1
then1+a+1+b+1+c1sequal

to:

(A) 2

(B) a+b+c

(C) l+a+b+c ]
(D) 0

The value of

21/2 x 31/3 % 41/4
1071/5 x 53/5

i 4735 « o71/3

is equal to :
(A) 0

(B) 1

(C) 10
(D) 16

A black body at 2000 K emits maximum
energy at a wavelength of 1.56 m. At
what temperature will it emit maximum
energy at a wavelength of 1.8 um ?

(A) 1153 K
(B) 1353 K
(C) 1733 K

(D) 1533 K

94. #fg

95,

96.

X
Wit

= g

1 1
+-

1+ a

(4) 2
(B)
(€ 1+a+¥
(D) 0

a+b+qg

21/2 % 31,/3

i 41/

e

4—2;'3 X 5” 7/5

1075

1 91 B0 -

(A) 0
(B) 1
(C) 10
(D) 16

W Fe e

£3/5

5 435 5 g-1/3

1.56 pm TTRE T qe

2000 K W Iq%aq s Ioafsta = 2

9 19 9 98

ftrran Sorf Ieafsla o

T 3T T 1.8 pm & -

(A)
(B)
(©)
(D)

1153 K
1353 K
1733 K
1533 K

SPACE FOR ROUGH WORK / T% &4 % ferl Fmg
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97. Which of the following statement is  97. = & &F W %7 o & ?
wrong ?
(A) Sound travels in straight line. (A) waf1 T T § T 7
(B) Sound travels as waves. (B) A a7 % ®9 H THT I ¢
(C) Sound is a form of energy. (C) & Sl 1 U &9 2|
(D) Sound travels faster in vacuum than (D) &1 fHaia o arg i 3men
in air. EaGiRd
98. In a defective balance the weight of left 98. T SIUYYT TS F AT Io FH R T
edge is 100 gm more than its right edge. Yool % |1 ¥ 100 T 3fuE €11
A shopkeeper while purchasing keeps FHE TET T9T 39 TN F (¢ I
weights on left edge and while selling WAl & S aEqe o9 999 98
keeps weights on right edge. He only uses Yool § TEal €1 9 Faa 1w
weight of 1 kg. If he sells the things on AN H A 2| afe 98 ageii B S
marked price, then his profit is : AU UL 9=l €, T U A1 &
100 100
% %
A > @
200 200
% %
B 43 e
100 100
% %
©@ 7 € 4
200 200
= as %
99. A graph of a Ct}mulati'%r'e' frequency  99. Tudl ARGl ST F AT FEew
distribution is called :
(A) Histogram (A) rgal==
(B) Frequency polygon (B) SRENH 59«
(C) Ogive (C) 3Ea
(D) None of these (D) 39 9§ #iE &l
SPACE FOR ROUGH WORK / T% &4 & for&r simg
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100. Which statement is correct ?

101.

102,

(A) Area of triangle can be used to find
the area of rectangle

(B)

Area of triangle can be used to find

the area of a circular area
(C) (A) and (B) both
(D) None of the above

The whole surface area of a rectangular
block is 8788 square cm. If its length,
breadth and height are in the ratio of
4:3:2, then the length of it is :

(A)
(B)
©)
(D)

26 cm
52 cm
104 cm

13 cm

A train travels a particular distance with
an average speed of 40 km/hour and it
stops sometimes in between. Jf it wofild
have not stoppedithendtiwouldhave
covered the distancerat an average speed
of 60 km/hour, This train stops how
many minutes per hour in order to cover
this distance ?

(A) 20 minutes per hour
(B)
(C) 15 minutes per hour
(D)

18 minutes per hour

10 minutes per hour

100.

101.

102.

PH-F1 FUF T & 7

& 8% F IYAN AT
&R 10 HA | o7 =1 gpar &
549 B dmree w1 swdi g as
&R 919 F § form o e
(A) 741 (B) SFi

ERRES b e

(B)

(©)
(D)

U AFAERR =6 F1 G0 Y3 &me
8788 51 WM. T1 AT IET waw, heE
T SE 443 : 2 379 & ¥ o Swet e
®:

(A) 26 @.j.
(B) 52 |.H

TH WS UF o 40 PR i sver &
T HA € 2R 9 & F gw
Afe Termel °g # 7 w5 d1 9g
T gl 60 TR, ufd wver #7 sigg =1 @
T HA N e T 39 B oTw wE A
fohe e wffy wvar = ofma & vt 27

20 Tz
18 fi=e
15 T2
10 fimz

(A) i =
(B)
(©)

(D)

gfq =y
g =gy
Yfq goz

SPACE FOR ROUGH WORK / T% &7 % forar
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103. A rectangular field 50 meters long and

104.

40 meters broad contains a rectangular
lawn inside it surrounded by a gravel
path of uniform width of 6 meters. Then
the area of the path is :

(A) 730 m?

(B) 960 m2
(C) 480 m?2

(D) 720 m2

A piece of steel has a length of 30 cm at
15°C. At 90°C its length increases by
0.027 em.” Coefficient of linear expansion
of steel piece is :

= 128 @ ¥ o
B 12x10-%9C—1
(C) 24x10-6°C-1

(D) 36x10-6°C-1

] i

B S

103. UF FAAER &3, Sl 50 "z
40 512X 9191 €, | UF AR
=R AR €62 1 UHEEE Sl @
faast el 6 g § @ 9z

104.

BT 'E':WT :
(A) 730 m?
(B) 960 m?

(C) 480 m?

(D) 720 m?2

TF A & ZFHS it T 15°C 1
€, 90°C a9 9 39F = 0.02)
ST €, A LA F ZHS w @

e

(A) 6x10-6°C-1

(B) 12x10-¢°C-1

(C) 24x10-6°C—1

(D) B6x10-6°C-1

Set - A
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105. Match List - T with List - Il and select  105. W=t - 1 1 =R |- 11 § gafew 7 f 22

correct answer using following codes : &1 Y= 9 Wél 3 Tafd Hifad
List - I List - II T - 1 Tl - 11
(a) HI () Monobasic (a) HI (i) TFaRFE
acid A
(b) H,BO, (ii) Dibasic acid (b) H,BO, (i) fear=m
A
(©) H,PO, (ili) Protophilic (©) H,PO, (iil) ST
solvent [ERIEED
(d) Liquid NH, (iv) Strong (d) =9 NH, (iv) Yaa
reducing TR LH
agent
Code : HIT
@ (b)) (o (@ (@ (b) [{c) (d)
(A) @ @ (@ Qv (&) @ (@) |[@E) (@v)
(B) (v) () () (i) B) () () |@) (i)
© Gv) (@) @ (@ © (v) @) |G@) @@
D) O Gv) () (i) (D) () (v) |Gi) (i)

106. What is the best method for explainin g

the formula for Arithmetic series""? F 'ﬂﬁ%ﬁ’[ fafy 2?2

(A) Deduction method only (A) s fafy
(B) Induction method only (B) rmAas fafy
(©)  Analytic method only (C) dwaifus fafy
(D) (A) and (B) both (D) (A)awm (B) i

SPACE FOR ROUGH WORK / 7% =T % fer My
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107. A frequency distribution can be : 107. T SHATA 527 8 Toha ¢ :

(A) Qualitative : (A) TN

(B) Discrete (B) fafasa

(C) Continuous (C) Had

(D) Both (B) and (C) (D) (B) T (C) i

108. Which of the following is mismatched ? 108. =1 # == gifem & €2

(A) Gasohol - Petrol with 5% ethanol (A) TErRTE - 5% TaRag 12
(B) Solar energy - Pollution free energy (B) TR S - YFUUIHA Sl
(C) Acid rain - Ozone gas (C) o7 guf - = A9

(D) GremHousegas-C}ﬂoroﬂuorc;carbon (D) = Te 19 - FANTARHT

109. Two bodies X and Y with mass 5kgand | 109. @ fiig X qun Y fsme goqmm %

25 kg fall with initial velocity zero from a T 25 foRTm. €, 100 T #1 Sai
___height of 100 méters then which of the 7 =2 4 A= frm 1 b
“follgwing is o mvf‘ | Fm T 2
“(A) X 'will touch the groun R e (A) X gt = wEe TE HW
(B) Y will touch the ground first - | (B) Y YT il UEel T M
(C) X and Y will touch the ground at (C) XTY I gl H T |
the same time L
(D) Nothing can be said (D) ' el &l S Wkl

SPACE FOR ROUGH WORK / 7% &Td & ferd g
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110. An n-type and p-type silicon can be
obtained by doping pure silicon with :

(A) Sodium and magnesium
respectively

(B) Phosphorus and boron respectively
(C) Boronand phosphorus respectively

(D) Indium and sodium respectively

111. The primary purpose of software is to
tumn data into

(A) Website
(B) Informations
(C) Programs

(D) Objects

112 Which of the folsiy @ctfi
hormone in hungdf*bedty ?

(A) Gall bladder
(B) Salivary glands
(C) Pancreas

(D) Oesophagus

110. = g o

111,

E WY T S ¥ g

U n-2EY [ p-29 fafesa ora fgn s

Hhal &

(A) Fw Tfsay &k iy 3

(B) wUW:(EERY UF S @
(C) 99 |8 T8 SRRy §

(D) shaw: [3feaq iR difeag 9

mwmwﬁmmﬁﬁmﬁ

qfEfi w2
(A) d=ErE
(B) =
(C) s
(D) St

o

Fferd e & |7
(A) ™ =9
(B) dfersit Rz
(C) wAfFay

(D) =ErFTY

; mmﬁﬁﬁﬁfﬁﬁﬁﬁqs‘gﬁaﬁq
2

SPACE FOR ROUGH WORK / 7% %14 % ford e
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113. At the time of introducing Algebraic
expressions which important point must
be told ?

(A) Use of symbols for concrete objects
(B) Use of symbols for unknown things
(C) Operation on symbols

(D) All of the above

114. Match List - I with List - IT and select the
correct answer using following codes :

List -1 List - 1L
Polymer Properties
(a) Orlon (i) Heat resistant
polymer
(b) Teflon (ii) Chemical resistant
polymer

() Decron (i) Water resistant

‘polymer

(d) Melamine (iv reakable
y
&

)
(@ (b)) (o) (d)
(A) @ @) @v) @)
(B) Gii) @) @ (v)
© @ (@) @) @)
(D) () (@) (@) @

114.

(A) =56 = g wgel # ferg v
(B) ¥ = e el % fog wEm
C) Hhdl 9 ERA

D) ST 64l

i - 1% e - 11 % gafed A S
1 TRl 8 W S H A Hled

et - 1 = - 11
SETh an
(a) 3T (i) oo Wi sge

(b) THAH Gy vmEA wfad
EGED

() THH (i) =@ wiae sge
(d) TEMEA  (iv) A %A 9l §ge
HIE

(A) @ (@) @) (@

(B) () @ @ (v)

© @ @) (@) )
(D) (v) (@) (@) (@@

SPACE FOR ROUGH WORK / 1% @md & fera =
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115. In the given figure, the area of the 115, fe3 w faq 4 F44s ABCD =1 €T ¢

quadrilateral ABCD is : (given \/3 = 1.73) (e 3l 1.73)
20 ? 20 =
A A
=20 20
- 20 " 20
D 12 & D 12 &

(A) 452 square units (A) 452 97 =78
(B) 269 square units (B) 269 a7 3rE
(C) 1345 square units (©) 1345 97 zod
(D) None of the above (D) ST B § %18 75

116. Which method will be best used for 116, frfufag & & FA-H fafr wroer faemg

development of seifitific &iils » " N Srm s A ST F 1 g §

(A)  Performing laboratory work ! | | (A)  WErRTE % @ g

(B)  Giving opportunity to learn skills in (B)  &WmYI gR ivrer T =7 aveay EHE]
some field visit ST

(€) Conducting science olympiads (C) fo=m siiffigare sraifam s

(D) By science quiz competition (D) fagm o v gy

SPACE FOR ROUGH WORK / 1% =7d & fordr e
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117. Diphtheria disease is caused by :

118.

119.

object. EI dlstai
n + 1

(A) Xanthomonas

(B)
(©)

Pseudomonas
Corynobacterium
(D) Variolla

The areas of three adjacent faces of a
cuboid are x, y and z, then the volume of
the cuboid is :

(A) xyz
(B)

(©)

2222

Sz

(D) None of the above

A convex mirror of focal length F

1th
produces an image —  of the size of the

of the object from

118.

119.

(A)

117. feueifen T <mr foaas 2 3

ECisiccks
(B) ¥ESHRE |
(C) FNEEFRITEE §
(D) = &

(A)

forelt =1y 7 9 HerT wew
FHA: x, y 32 § AN

(A) xyz
2222

Vxyz

I H H FE 1@

TH F RIFHE o=m & 3 e

%%WWWWW

(n+1)F

+1
= ® (L
i ==}
(© (“n ]F © ( . )F
(D) (n-1)F (D) (n—1)F
SPACE FOR ROUGH WORK / % &1d & ford sz
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120. The areas of three adjacent faces of a

121.

122,

cuboid are x, Y, z. If the volume is V, then
V2 will be equal to :

xy
@ Z
®) =
v?y?
&2
(D) =xyz

If a+b+c=0, then the value of
a* + bt + 4

262 + & (a2 + 1)

is :

(A) a?+b%+c2
(B) 0
€ 1 | &8
(D) 2
i

The law of conservation of mechanical
energy is applicable when :

(A)
(B)
(©)
(D)

External force is zero
Torque is zero
Force is non-central

Force is conserved

120. T S99 & oF ol ol F AAF

121,

122.

x, Y,z 1 97€ I9F AFAH V R, @ V2 O
& |

(A) i;i

® %

© 2L

(D) ayz

Aa+b+ck0, 32b§4++;?a: f b?)
T HH B

(A) a?+b3+c2
(B) 0
© 1
o i

PUEEET I
EER

qarol 1 fem @ e

-

(A) &1 =T
(B) =¥t e[l g &
(C) = aH=a =
(D) o Gt &

SPACE FOR ROUGH WORK / T% &4 % ol sz

6210/ TE-SET/GLE-E

29

Set - A




e Tt i it i gl Sy o i

123. O.F.C. (Optical Fibre Cable) is used in 123 1. 4. (SfeFa Frgsr Fae) H1 395

internet communication because of : 32T HER T1ee H g & wiifs ELSES

(A) low cost (A) fgee

(B)  free from virus threat (B) 9@ 433 T BT &

(C) high data carrying capacity (C) == 2 uro amar &

(D) faster than light communication of (D) et & werrer Som w4 o 3w 8
signal

124. The point of concurrency of three 124. &5t By & o videist %7 sem fag

altitudes of a triangle is called its : FE -

(A) Incentre (A) I=kw=g
(B) Circumcentre (B) uith=
(C) Centroid (C) F=m
(D) Orthocentre (D) o= |sg

125. A circle is inseribed mamr@e‘!%oﬁ' 125, T faj’fmaﬂ YT 8 {HL, 15 QAT

sides are8cm,‘!5mand17m 'rh@ HR 17 4, . %, 4 T o=.ga fifeq & sg
the radius of thegircle i I N S B

(A) 10 cm (A) 10 9.

(B) 2cm (B) 239,

©) 5em ©) 5%

(D) 3cm (D) 38

SPACE FOR ROUGH WORK / 7% & & fod s
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126.

127.

128,

Which of the following diseases in human
is not infectious ?

(A) Cancer
(B)

(C) Cholera

Tuberculosis

(D) Conjectivitis

The following frequency distribution is
classified :

Relative frequency distribution
Continuous frequency distribution
Percentage frequency distribution
Discrete frequency distribution

I

During meiosis crossing over takes place
at : i = i
(A) Diakinesis

(B)
©

Diplotene
Pachytene

(D)  Zygotene

126. AF4l § 819 976
® 2

(A) FE
(B)

127.

(A) T IRER
(B)
(C) wigwm =R
(D) Tafasa sRAl

Hed Fiend

fraidme 2

(A) eEHEfEw
(B) Tem=
(C) ufwem
(D) e

|

ERRIER SR

1= T S Hohiees Tal

eritepa @

38 47 68
T §29
[ §2A

GG EE|

IGIRCEL |

HIST o S0 ShITHT Sfie

SPACE FOR ROUGH WORK / % =14 & o stz
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129,

130.

The north pole of a magnet is brought

near a metallic ring as shown in figure.
The direction of induced current in the
ring will be :

| S

o

B

(A)

anticlockwise

clockwise

(B)

(C) first anticlockwise and then

clockwise
(D) and then

first clockwise

anticlockwise

ABCD is a parallelogram, AB=5 cm,
BC=6 cm and the length .gf the

129.

130.

ferefl = % 3l ya ®1 fo % A9ER u
uTq F % WHY T S E 1 ged o

U oy 7 e g

RS G, e efaomed

(D) vge sferomerd, fRe amrad

ABCD U% §9iat 994+ & AB=5 9.4,
BC=69.5. a1 D ¥ AB W &fa I ofar

perpendiculazfzom Do AB isdem Then, 4 AFL R, DY BC W o7 &1 A4 &
the length. gi the ﬁsrp%&&ulw f;a?p;:
DtoBCis 2 By i)
(A) 24 cm (A) 24 94
(B) 3.33 cm (B) 3.33 {.HL.
(C) 3.50 cm (C) 3.30 H.5i.
(D) 3.66 cm (D) 3.46 9.7
SPACE FOR ROUGH WORK / 7% &1d & ford wme
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131.

132,

133

In an office average monthly salary of
100 workers is X 16,000/-. Management

made an increase of 5% in the income of

every worker but stopped giving

transport allowance of ¥ 800/- per
month. What is the new average monthly
income ?

(A)
(B)
(C) ¥ 16,200/-

(D) Insufficient data

% 16,000/-
% 16,500/ -

A circle in which sectors represent various
quantities is called :

(A) Pie chart
(B)
(C) Frequency polygon

Histogram
(D) Component bar chart

Two bodies of masses 10 k:gand 5 kg

moving in conceﬂ&‘iﬁar@ﬂ@i{aﬁ*md
r such that thegpéﬁgda are the same/

Then the ratio betw
accelerations is :

i

(A)
(B)
(©)
(D)

131.

282,

. 10 & w9

T A § 100 FHANE! 1 3i6d g
a7 T 16,000/~ F 1 FaEH A Yk HHw
& WfgF 997 4 5% F1 3fg =, W TOF
FHARI &1 gl e amen T 800 %1 Wi
AT 1 ST a8 2 fedn | 7 e qifges
o T B P

(A)
(B) % 16,500/-
(cy % 16,2[0/-
(D) oA Aiwg

Z 16,000/-

e g7 foad 3o s fy=-fim aenedi
F1 Y FH €, FEo €

(A) WE TG
(B) eArHafgH
(C) SHaRd wgqs
(D) *2= IE @

—

5 {5,711, 2ea9 % <1 fig R wd
I F R T R TR T
o1 U T | 1 S0 A=)
W T B

(A) R/r
(B) r/R
(C) R2/r2

() 2R
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134. The magnetic fields at a distance ‘d’ from  134. T B AT FgEH A d T W A W
a short bar magnet in longitudinal and HITH feafgdl § grra &3 &1 A
transverse positions are in the ratio : BT
(A) 1:1 (A) 1:1
() 1:2 By 1:2
@ 2:1 (@ 21
(D) 4:1 (D) 4:1

135. If a=—gt—£ and b=—j—§%§, 135. Afga ?t?aﬁhb—g+ﬁ,
then the value of a®+b? is A a2+ b2 ] HHE BT :

(A) 1 (A) 1
(B) 98 (B) ' 98
(€ 11 (Y 13
(D) 3 (D) 3

136. Two identical heaters rated 220 V, 136.. 220 'Ellﬁ?, 1000 92 ¥ T THEHAN Bl
1000 watt are placed in series with each 220 Ehﬂ AT | UH Qﬂi ¥ 919 goit HH 4
other across 220 volt line. Their combined T@ €| | §YF YIS R ;
power is : £S5
(A) 2000 watt (A) 2000 8
(B) 1500 watt (B) 1500 HIE
(C) 1000 watt (C) 1000 HZ
(D) 500 watt - (D) - 500 &2

137. The temperature of a block of Sonis | 12, T8 & THe Fh1 A9 140° F &, 3HHT 98
140°F. Its temperature on the celsius scale T hel 9L ¢
15 :

(A) 32°C (A) 32°C
(B) 60°C (B) 60°C
(C) 108°C © 108°C
(D) 140°C (D) 140°C
SPACE FOR ROUGH WORK / T% &T& & fra sg
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138.

139,

140.

How many solid cylinders each of Iengtﬁ '

8 inch and diameter 6 inch can be made
out of the material of a solid sphere of
radius 6 inch ?

(D) None of these

A true fruit develops from :
(A) Ovary only
(B)

(€) Ovary, style and stigma

Ovary and style _

(D) Ovary and thalamus

An object is placed between two pla
mirrors inclined at arggle:mf 30° %ea@h

other. How many. 1matges do Wu@( ect

to see ?
(A) 10
(B) 11
€ 12

(D) 13

138.

139.

140.

' (B)
ey

(A)

o

T S Tien e e 639 &, % v g

-ﬁﬁaﬁaﬁvaﬁﬁﬁﬁrmsﬁmm

6 39 B 9 [o T & 2

9 4 Fr T

UF T % 9971 & -

(A) 3 kY q

31T i WEw §

sis9, We S e &
(D) mﬁqai‘r'gmmqﬁ

T G H 30° FIV T EF gU & oee aduy
% 9§ U g w6 ¥ o e
il S # ariar w0 § 2

10
(B) 11
(C) 12

13
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141. In Kreb's cycle citric acid is formed by a  141. %39 =% H Tafgs s form wamafe foran
chemical reaction which is between : & B TIH M AA T :
(A) Acetyl co-enzyme A and malic acid (A) HIT~TEH A 3 Afaw a7
(B) Acetyl co-enzyme A and (B) ufifedt wIu=RH A 3R HiFvATfafe
oxaloacetic acid H
(C) Pyruvic acid and succinic acid (C) wEtlas® 7 &R gfafis v
(D) Pyruvic acid and glycollic acid (D) TEFia® 377 3T TemgSIier 3T
142. What is the most important aim of science 142, 3= Wiafhs T W fagm foan #1 g=™
teaching at upper primary stage ? TRVl 3299 © -
(A) To develop mental faculty (A) famrma e
(B) To develop rational thinking (B) Terem =1 arar 1 fashE e
(C) To develop capacity for learning (C) HA|[HREA i &Hel *1 fas| HEA
formulae
(D) To develop capacity for solving (D) SHENS 1 &l FT i Qa1 fashd
exercises HTHT
143. The series, 143. o1,
Weights i : i
(Pounds) : 15-20 20,25 25-30 3035 8540, (TES): 1500 2025 25-30 30-35 35-40
No. of ¥ Tﬂgaﬁﬁ
items : 10 15 30 10 5 HET: 10 15 30 10 5
is categorized as : ¥ aiffgg €2
(A) Continuous series (A) R goft §
(B) Discrete series (B) aoft o
(C) Time series (Q) ot §
(D) Geometric series (D) ot
SPACE FOR ROUGH WORK / 7% &1d & o -7
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144. The capacitive reactance of a condenser ~ 144. U% UHt. vy § Gy 5 arfear ghaema
In an a.c. circuit is : BT
(&) Zero (a) =
(B) WC (B) WC
£ e
€ = © we
(D) infinity (D) =
145. Consider the following statements : 145. T o w famm #1f
()  In atmosphere, the percentage of () agHYSS H 91 F ER REEERE
nitrogen by mass is 78%. Fiaradt 78% &1
(II)  Nitrogen is collected by upward (D) EgeE, & FeEiR oy €
displacement of water. Wi SR
(II) Nitrogen is chemically inert due to {n = faﬁt SN F FRU A2
high dissociation energy. TEAH $9 | 3IfFg §)
(A) Statements (I) and (II) aré correct, | (A) %% () w§ (D) W& &, Fe (1) e
statement (II) i wrong. : f Tl
(B) Statements (I) and (II) afé correct, CE(B) A (D) YT (1) FE E, e (1) e
statement (III) is wrong. ?
(C) Statements (IT) and (III) are correct, (©) ¥ (I @ (I1I) W& &, Fo (1) ot
statement (I) is wrong. gl
(D) Statement (III) is correct, statements (D) e () Y& €, e (1) 7201 (1) e
(I) and (II) are wrong, gl
SPACE FOR ROUGH WORK / 7% %14 % ol sz
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146. In a survey among students at all the 146 fapdt FaEI"I F % w0 o wf IM %
[IMs, it was found that 48% preferred el # 48% 3 i@ F Wl <,
coffee, 54% liked tea and 64% smoked. 549 3 91 =TEl 3R 64% 7 YFIA H |
Of the total, 28% liked coffee and tea, 32% R 289% f =@ i i S =, 32% 7
smoked and drank tea and 30% smoked CrEiEicl i = @ a9 30% A HHAH
and drank coffee. Only 6% did none of i FE G Ed 6% 1 3 4 T A
these. If the total number of students is foam | afe ES ERIPI 2,{){}0%?13[ FIA HID!
2,000 then the ratio of number of students e 9| T Fee 9 TR ey Taenfe=i
who like only coffee to the students who FY TS F ST B
like only tea is :

(A) 5:3 ' (A) 5:B
B) 8:9 (B) 8:9
) 2:3 © 2:B
(D) 3:2 (D) 3:]2

147. The frequency distribution according to  147. sfETd (SR T T A SRR S
individual variate values is called : Hacdrdl
(A) Discrete frequency distribution (A) AT "

(B) Cumulative frequency distribution (B) . SRARA e
(C) Percentage frequency distribution (©) ERCIEGICEe]
(D) Continuous frequency distribution (D) SR 92T

148. Two cars X and Y starts from two stations ~ 148. & HR X SR Y FH: A WA P ARXQHE
P and Q respectively at 9 a.m. The Here 9 o T 2 ¥ 1 PaenQ H 700 LA
distance between P/and Q is 700 k. ‘The 25 13w w1 sfew = 60 L
average ¢peed of both ‘the cars'is ufed Ei21 & | FR X, 10 59 FhHT 11 S T
60 km/hour/The CarX stopsiat 10 ami. e 9 L, SR = Y far w5 e
and starts again at 11 am. while car Y is e ¥ (B ST UH-gEY I E UL RN ?
running without stoppiﬁg. When both Sy L
the cars cross each other ?

(A) 4:10 pm. (A) 4:10 pm.
(B) 4:20pm. (B) 4:20 p.m.
(€©) 3:20pm. (C) - 3:20 pm.
(D) 2:40 pm. (D) 2:40 pm.
SPACE FOR ROUGH WORK / T shTd{%h ford =7
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149. Successive discounts of a% and b% are 149 STIFHHE 4% & b% #1 g2 Fo et

equivalent to a single discount of : fomert g2 it 2
a+ b), : a+|b),
(4) ( > J’f* (A) [—5—]/3
(B) (a+b)% - " (B) (a+b)%
ab ab \,
(C) (a + b- 100)% (C) (a + p- IUOJA
(a+ b+ab)c}, (a+ 3+abJ3,
(D) 100 )”° (D) o )*

150. Generally it is more difficult to purify 150, HH=A: TSI R T 1 g st
organic compounds than that of AT FT o1 H FoTar & 2w 2 iif -

inorganic compounds because s

(A) Organic compounds have low (A) wEf Af 5t faem i it
solubility. 2l

(B) Physical gomistants of organic@™ | (B i o afier sfe
compounds and impurities present % ifow e TH-gH & FHY
in them are close to one another. . (99-um) B ¥

(C) They are unstable. (©) 3 et B &

(D) They have low melting point and (D) 3% st e W Fory smei B
boiling points. 2l
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g1.

92.

93.

94.

FOURTH PART
(B) Social Studies

It is called as the landform of the first
order :

(A) Island

(B) Continent

(C) Mountain

(D) Delta

The campaigns of which of the following
Gupta ruler are described in the
‘Prayagprasasti’ ?

(A) Chandragupta I

(B) Samudragupta

(C) Chandragupta II

(D) Skandagupta

Amir Khusro was disciple of which sufi
saint ?

(A) Moinuddin Chisti

(B) Sheikh Nizamuddin Aulia

(C) Hamiduddin Naguri

(D) Sheikh Kutubuddin Bakhtiyar
Which of the following is cc;niek:t as per
National Curriculum meork (NC[;E}
2005 ?

' : i
(A) There is popular erc!e‘""‘tion of
pop PEICED

Social Science as non-utility subject.
(B) Both teacher and student feel
uninterested in comprehending its
content.
(C) From initial stage of schooling it is
suggested that Natural Science is
superior than Social Science.

(D) All of above

81.

92,

93.

94.

aqed 9
(=) QTR 37T

M ged| 99 W WUH FH F TCHT Fa
Eﬂ?ﬂ%:

(A) B[

(B)

(C) EE’?q

(D) =fe

‘warTyEiE | | fefated | | e e s
F 29T =1 =i T e R 2

(A} T T9H

(B)

Q) feat=

(D)

iR gl e g wa % fo 42
(A) Tafya

(B) femaEn fifern

(C) eHigEm T

(D) ¥ FIIA AR
T Filge %Hah (TAHLTE.) 2005

¥ SER Fefafes § & 70 wd §2
(A) U SHyg | § s
STERT fawa 7
(B) THerer qen faeneff <= & sa=t fawg
I R THIE Fi A & T |
(C) i forem & wRY | & 97 wHzan

2 % i fagm, a9= e @
HBTEI

(D) qﬂaa [t
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95.

96.

9%,

98.

In Hindus marriage of a daughter by
father with bridegroom of same caste by
religious rites is called :

(A)
(B)
(©
(D)

Prajapatya Marriage
Brahma Marriage
Religious Rites Marriage

Aryan Marriage

In which rock Fossils are not found ?
(A)
(B)
(©)
(D)

Sedimentary
Igneous
Metamorphic

None of the above

At present which plateau is found below
snow cover ?

(A) Deccan Trap
(B)
(C) Antarctica

(D) Plateaux of Colozado ]

Plateau of Meghalaya

Which of the following may not bé
necessary in history lectures ?

(A) Historical facts, events and their
correct chronological order

(B)

Correlation of historical facts and
events

©
(D)

Analysis of historical events

Exact date of all events

95.

96.

97

feg3i 4 wondfa = ¥ = wififs fafy
o & gra gt forame #t =01 for v
F1 fowg foame #ga &7

(A) Yo faame

(B) e foame

(C) Hﬁ:jﬁaw
(D) a4

T =z 4
(A) sTemTE
(B) ma

(C) wmafE
(D) 379 & =g 7

b P 12 e i

ﬁqmmaﬁwﬁ%qmm%ﬁ%?

(A) TFHT 1 9K

(B) TEEE %1 W=R
(C) ierHfes %1 vaR
(D) ®IENE! F1[yar

Bfdqerg * =EM § fretefag § 9
STEYF TE £ 2

(A) Ufaerfes qo1, w2 @ 9% @8
FHIAFH

(B) Ufaeifae aoi qen el =1 we_gay

(C) Uferfa= w1 =1 faverm
(D) @l sl & wE fafer

SPACE FOR ROUGH WORK / T% &1 & forgy e

6210/ TE-SET/ GLE-E

41

Set- A




99. Who of the following Governor-Generals 99, Freifafaa ® & &9 TEA-SE A |

adopted the policy of Subsidiary Alliance
for Indian States ?

Tt 85 fere weme G Y Aifa SO 2

(A) Warren Hastings (A) |a0 T
() Lord Comwallis (B) | @S FraTCTH
(C) Lord Wellesley (<€) e W
(D) Lord Minto (D) | @ T

100. Who of the following Sufi Saint translated  100. Hrem TS g HrRE § FEd =g
‘Chandayan’ in Hindi written by f&=<l| a1 as frefefiag § O 69 g |9a A
Maulana Daud in Persian ? %41 ?

(A)
(B)
©
(D)

Shaikh Hamiduddin Naguri
Shaikh Abdul Quddus Gangohi
Shaikh Abdullah Shattari
Sayyid Ali Hamdani

(A)| W@ gHigdA A
(B) | @ arg@ FTH TE
(©)| @ Hageen T
(D) dag sTel FHEE

101. The ruler of which of the following Rajput  101. T o F e gy TR HAATE

states first accepted suzerainty of

Frafafes 4 @ fFg T9QE 9 &1 WER

Mughals ? o ;

(A) Ranathambor (A] TorEeiR
(B) Amer (B) 3

(C) Mewar | : (C) | HaS

(D) Marwar (D) WRETS

i

102. As per Vedic Literature how many loans 102. Aft= Gifes & STTER q9d ¥ ftaa o fmer

are there in human’s life ? YR F T A & 7
(A) Sixteen (A) Hierg
(B) Three (B) =
(C) Seven (CF) |
(D) One (D) G
SPACE FOR ROUGH WORK / T |%Td & fora wme
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103. Who got translated “Geeta” in Persian  103. a1 7 Bt W91 7T g s a2
Language ?
(A) Akbar (A) TFHR
(B) Faizi (B) Wsft
(C) Feroj Tuglaq € fwis g
(D) Dara Shikoh (D) = farwR
104. Which rock is called primary rock ? 104. WATHF =z 0 e s 32
(A) Igneous (A) FF="
(B) Sedimentary (B) efaHEt
(C) Metamorphic (C) =miafa
(D) None of the above (D) ¥ | % 7
105. At which of the following places in this 105, wm%ﬁwﬁ%ﬁﬁ%&mﬂww
state a fair is organized on the fifth day I W e Ao Hefrm fra AT & ?
of Phalgun month ?
(A) Turturiya (A) T
(B) Damakheda (B) SMmREw
(C) Khallari (C) Geemd
(D) Girodpuri (D) freg
106. Which examples can begiven fn a  106. =fier ¥ € % &9 & ver aai 9 5 3
classroom as sources of I'us;ory in mcth g & fod Fefafaa o g [Ea:Ea i
standard writings ? T <1 Hehar 82
(A) Therecords of donation inscriptions (A) s 97+ § ot g afveral =1
in the Religious Buildings :
(B) The  foundation  stones/ (B) WRFRT srard] & ot smemfyren/sqEre
inauguration stones in Government el
buildings
(©) (A) and (B) both (C) (A) 3R (B) i %1
(D) None of the above (D) ST H aﬁﬁ T
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107. In which of the following Indian States 107. fa=faiEa d | 49 yrda s 1 fafew

British East India Company introduced = e w3 Wase fgfe & Hifd
the policy of appointing residents ? RY Fii ?

(A) Awadh (A) e

(B) Karnataka (B) [Zs

(C) Hyderabad (C) R=UER

(D) Gwalior (D) [Farferat

108. Which of the following regions of this state ~ 108. 8 U5 =l Trefafaa § 9 A 91 &8 -

is well-known for wood-art ? F ford ufgs 272

(A) Bastar (A) [F&R

(B) Sarguja (B) [T

(C) Raigarh (C) [aT=s

(D) Durg-Rajnandgaon (D) |gi-TsHigTE

109. Match the following : 109. fr=fafeEa =1 gafed =ifs

Fundamental Rights Articles Hifeter ATfeaRT ITHT

(a) Right to Freedom (i) 29-30 (a) |EEd=I T AfTHRR @ 29-30

(b) Right against (i) 25-28 (b) | & fagg afesR (i) 25 - 28
Exploitation

(c) Rightto Freedoﬁof %) 19 -22 () Y ==l (iii) 19-22

g, [ SO = R

(d) Cyiraland = | (iv) @324 (d) |wreghE = dufm ()23 - 24
Educational Rights ST

Code : wEk
@ ® © @ (@ B © (@

(A) () (v) (D) (@) (A) |0 ) @) (i)

(B) () (w) @ @) (B) | (@) (i) (@) ()

© @) @@ @ @) © |[G@v) @ @ ()

(D) @) (@) @ @ (D) | (@) @) @ @
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110. By which layer of the atmosphere the

111.

112,

113.

ultra-violet rays are absorbed ?
(A)
(B)
(©
(D)

Troposphere
Ionosphere
Exosphere

Ozonosphere

This state is the leading state in the
country in the production of which of the
following ore ?

(4A)
(B)
(©)
(D)

Iron ore

Tin

Diamond

None of the above

What will happen ?

Supposing a Constitutional amendment
bill related to amend article 368 of the
Constitution is under consideration in Lok
Sabha. 270 members are present there.
In the voting all present members vote in
the favour of the bill. The bill.

(A) will be passed.

(B)  will not be passed. ;
(C)  will be referred to'thd I a;tl
(D) will be sent f§'Rajya Subha, | I

The Community Hall in Village is an
example of :

110. wﬁnﬁﬁm“f?ﬂa@ﬁm%mmm

111.

112.

Sasiifee oy s & 2
(A) ivden
(B) =4 Hzw
(C) =fedeqg
(D) m‘r—rw

9’ T 69 o7 &1 Y ) § 2y oy
YT T § 7

(A) ©E s
(B) f=
(©)
(D) ST T

118 ?
HA S5, S % s 368 1 woinm
ﬂaﬁfaﬁqmmﬁmhﬁwm‘ o H
Toemia & T 4 270 weET Sufiyg ¥
wﬁmsﬁmmﬁ%}w%w
f{wwgi fatas .

(A) i & s |
(B) _wifig =& grmry
(C) Wl il wafdq faran wmaem

(D) TGS S S |

. T T T Wt e e

(A) Community Unity (A) THEF T w5
(B) Community Development (B) I fawm =
(©) (A) and (B) both () (A)F=n (B) SHi
(D) None of the above (D) =90 ¥ #1¢ 78

6210/ TE-SET/ GLE-E
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114. Which of the following parts is situated ~ 114. TH[TF % Fad <fam ® =3 4 @ =0
in the southern most part of this state ? w1 frorg 22
(A) Jashpur (A) SRIYL
(B) Koriya (B)| =i
(C) Jagdalpur (C) SRR
(D) Konta (D) @i
115. Inwhich of the following battles Shershah ~ 115. T=ifafed § 9§ 49 gg ¥ 9rvmz = gad =1
completely defeated Humayun ? qofean qfsa o o ?
(A) Chausa (A)] =
(B) Chunargarh (B)) U@
(C) Khanua (Cy @q31
(D) Bilgram (D) Teremm
116. Who of the following Kalchuri King of  116. 38 [tsa & fr=fafad o fog weagd wsn 3
this state attended the Mughal Court ? HTE SER H Iufeufa < off ?
(A) Pratapmall (A] SaM9HeT
(B) Bahar Sai (B) =R HHA
(C) Kalyan Sai (C) heam HE
(D) Laxman Sai (D] <EHY |
117. Who is Political Sovereign in India ? 117. YRE H USHITH Ty HH & 2
(A) People (A) ST
(B) President (B)| Trezyid
(C) Parliament (C) wE=
(D) Ruling Party i (D) HwFS <A
118. Social'and Cultural issues whichymay 118, @Il %! W& &1 wgF™ a1et QA as
provoke public sentiments : TrepiaF fawaf =
(A) Should not be referred in the (A) FETRe o Jovifigd T T AfEy
classroom
(B) Should not be discussed in the (B)| =HETHE § ==l T2 HEA ARy
classroom
(C) Should be discussed with sufficient (©) vaT@ e & ==t we =ty
caution
(D) None of the above (D) 376 | &1E oFf
SPACE FOR ROUGH WORK / T% & & fordr sme
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119. Innermost part of the Earth is called as :
(A)
(B)
(©)
(D)

Crust

Mantle

Core

None of the above

Who of the following was the head of the
civil and military administration of the
province under the Mughals ?

(A)
(B)
(©)
(D)

120.

Nazim

Diwan

Bakhshi

Faujdar

121. Which of the following statements about

social science is not true ?

(A)  Social science is related to diverse

concerns of society.

(B) Social science is subjective
discipline.

(C) Social science lays foundation for

analytic and creative mind.

(D) None of the above E

122,
Supreme Court|of India under
following :

(A)

the

Original Jurisdiction of Supreme
Court
Appellate Jurisdiction of Supreme
Court

(B)
(C)  Advisory Jurisdiction of Supreme
Court

(D) All of the above

Narmada water dlspufes was referrgr.iI to

119.

120.

121.

122.

Y& & FE| W Fed £

(A) FW

(B) Hed

(C) wHIs

(D) T @ 3 =

Tl o AL W % A we S e

1 9E Fefefaa & 9 %59 912

(A) =fsm

(B) @&

(C) ===

(D) WIRER

TS ¥ Mg & Wy o fFrsfafag 8§ 9

1 e T 2

(A) wAE et T & fafis fawei @
Heiferd &)

(B) HH A rafaa (wesifaa) frem
o

(C) wE™ EREILERE P\ S e
AT A1 STUR R Ha

(D) 9= H &

T S faa1R soraw =mem 5 feas

Ted ST T 2

(A) 3= =HEE % o stfyer

(B)

STTH A[EE & Tl AR

(C) T e % Wt 3 1 sifusr

(D) SwE mT
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123. Bhilai Steel Plant was established in 123, Fefié 320 H93 %1 T fre¥ Tedm @
collaboration with : ; W IR ?
(A) Britain (A) fae=
(B) Soviet Russia (B)| wifoad &5
(C) Germany (C)| At
(D) France (D) wiE

124. The most effective important method of 124. WYHH T W 3faer W-ﬁ F HIH YU
teaching history at elementry level is : fafy = 22
(A) Lecture method (A) = fafy
(B) Project method (B)| Wi fafy
(C) Story telling method (C)| =erl gam =it fafy
(D) Discussion method (D) ==l fafy

125. Which of the following was the.main 125, T@|99sy ¥ w9 ¥ fow ffafas § 4
cause of the decline of the Gupta FE-E HE H0 o1 ?
empire ? '
(A) Huna invasions (A)| &1 SR
(B) War of succession (B) | SuUf¥sR =1 T35
(C) Rise of the Vakatakas (C)| =rFre=i = 3gq
(D) None of these (D)| %" 8 #E T8

126. Which of the following is not a tier of  126. frfafEa ¥ 4 =17 W Jam=d U9 =1 w
Panchayati Raj ? TR 2
(A) Village Panchayat (A)| 7™ gdarTa
(B) Panchayat (B).| - TR g4
(C) Zila Pari . (C)| TS wfwe
(D) a i a (D)| de=mEe wfafq

127. Which of the following was the  127. 1857 % fage %1 qrehifes SR f=fafay
immediate cause of the Revolt of 1857 ? H g[E-ar 417
(A) Economic exploitation (A) | zfee vmor
(B) Racial discrimination (B) | wemita S5y
(C) Social tension (C) | wmifsr e
(D) Greased cartridges (D) | =ritenet FRgS
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128. India is a Republic, because

(vi)
(A)
(B)
(©)
(D)

We celebrate Republic Day every
year on 26 January.

There is no hereditary office in
India.

Various offices are filled by
elections.

There is Parliamentary System in
India.

The office of the President is filled
by election.

For Republic Day one date is fixed.
@ () (vi)
@ ) @
(@) (@) (v)
(i) (v) (v)

129. Which landform is formed due to wind
deposit ?

(4)
(B)
(©)
(D)

Alluvial Plain
Till Plain
Loess Plain

Lacustrine Plam

130. Who were “Mansabdar” in Aurangjeb
Darbar ?

(A)
(B)
©
(D)

Jaisingh
Jaswantsingh
Shujat Khan
All of the above

128,

129.

130.

R T U6 8, =it

(i) szswﬁaﬁWﬁw
EEich-d

(i) YR A FE g ST T 2

(i) fofsm g fafa & w a3
(iv) T § SO sgeee ¥
(v) Usufa|= 92 frafes @ g s g

(vi) T feaw & fou w fafa a9 3

(A) <Efds
(B) rHaaiHg
(C) y&a @i
(D) S Y
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131. With the reference of Srilankan literature
which are the sources for knowing
Mauryan Literature ?

(A) Kangyur, Tangyur

(B) Deepvansha, Mahavansha
(C) Buddhist source, Formula
(D) None of the above

132. In which of the following fields Mughal
culture left a permanent mark in India ?

(A) Sculpture
(B) Architecture
(C) Music

(D) Painting

133. Who accepts the resignation of Vice
President of Municipal Council ?

(A) Collector
(B) Sub-divisional Magistrate

{C) Dy. Secretary, Urban
Administration,

(D) Dya Director; Panchayat

134. Baltic plifedux 18 situdted ir"fhis
continent :

(A) Africa
(B) Europe
(C) Asia

(D) Australia

131.

132.

33,

134.

Hrdl

(A)
(B)
(€
(D)

@, g
T H | W =

frtafe 4 4 fha am & g oy 3

BIEC
(A)
(B)
©
(D)

8 el B 212 ?
Hfdferes

T

i

IEEETSl

TRYIferh1 UEE & ST H A FH
e Hidl & 7

(A)
(B)
©

(D)

=

el
fauria gueifusid
Sy-ufdga, FHa yorEa

SU-HdeTH, Y=g

Sfcdeh YN 39 TRE W feom ©

(&)
(B)
(©)
(D)
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135.

136.

137.

138.

If three generations reside in the same
house, this family is called :

(A)  Community family
(B} Single family
(C) Joint family

(D) Organized family

In which of the following district
Manganese is found ?

(A) Bastar and Bilaspur
(B) Koriya and Bastar
(C) Jaspur and Bilaspur
(D) Jaspur and Korba

Who takes two types of Oath ?
(A) President

(B) Vice President

(C) Ministers i
(D) Speaker

During the reign of which of the following
Mughal ruler cultivation of tobacco was
introduced in India ?

(A) Humayun
(B) Akbar
(C) Jahangir

(D) Shahjahan

135.

136.

138

138.

U & R ¥ i ifedi % e s wy wa
UH ufian =1 #er o s
(A) T iR

~

(B) TH WfEm

(C) §IR Rar
(D) wvfed uftan

Frfafaa 3 § fr frai F Hrra wran s
22

(A) FER 991 foemage
(B) =miftar auy sy

(C) g qe foremagy
(D) STI9L a1/ e

% 2 WHR FHT 9 o 37
(A) Teufy
(B) Su-tregufy

(©)
(D)  Ed=T

Fr=fafaa 5 3 faa grer oo % s
# I & g # H W ga?

(A) T
(B) ¥TFeY
(©) &FR
(D) vl
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139. The Constitution of India is federal,

139. YRA #7 WU T & iy .

because :
(@) There is decentralisation of powers. (i) e 1 fadaor fae e
() Powers are divided in three Jists. (i) ;ﬁm‘r 1 1 e § famfom 2 ¢
|
(iii)  There is provision of Judicial Review (i) =nfreh g 1 g 3
(iv)  There is provision of Fundamental (iv) Hfaum F wifas sfusri 5 gaum
Rights in the Constitution. gl
(v)  The Constitution is written and js (v)| wfaum fafam st sar 2
Rigid.
(Vi) Residuary powers is given to the (vi)| srafire vl Sz 91 @ w g
centre,
(A) @) @) (v (A) & @) (i)
(B) () (v) (v) (B) | () (v) (v)
© @ @) (v © 1@ @) W
(D) @) (@) (vi) D) | @) (v) (vi)
140. The tremors of & severd :aea}ﬂx_qua,kg N 140. TER F su g [ % FE FEl Hegy
Myanmar (Burma) are notlikely to be felt T Y w1 wwa £
5y _
(A) New Delhj (A) [ feoeft
(B) Kolkata (B) T
(C) Guwahati (C) T
(D) Bengaluru (D) e
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141.

142,

143.

The Constitution of India is Rigid,
because :

()  The amendment procedure is rigid.

(i) Legislation procedure is simple.

(i) There
amendment process and legislation

is distinction between

process.
(iv) States have been given a part in
amendment.

(v) Amendment procedure is provided
in the Constitution.

(vi) Equal rights have been given to the
both houses of Parliament in
amendments.

(A) @ @v) (vi)

(B O @) (@)

©) @ @) (v)

(D) () (i) (vi)

The Chief food of this state is

(A) Wheat

(B) Rice : ]
(C) Maize . _

(D) JOWElI‘ 5 ;" RoT=N 0 I S

Which of the following was the
immediate effect of the Revolt of 1857 ?
(A)
(B) End of Company’s rule
(C) Introduction
Government
All of the above

Unity among Indian States

of Responsible

(D)

141.

B (B =TS
~(C) TR (B
(D) wEm

YT 1 Sy #3r 8, 905 -

(i)  HYET 9hERA O B
(W) fourh s o %)

(i)  Fune i ofw faurdt wfra d smm

gl

(iv) w1 e faar a3

(v) Hfaum g9eiem g & 5o 8

|@eEE H (HOe % 21 e @ 9uH
sty famr mar &

(vi)

(vi)
(iv)
(V)| (v)
(1)

(A O (@)
(B) () (i)
(€) ()
(D) (i)

ST % 9 @ f

.

(A)

. 1857 %1 shif= = arekiferss Wi fr=fisfas

R en?
(A) 9REHT T § war

(B) ¥l & T09A % a7
(C) STEHET WA w7 Y9

(D) I [T
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144. Which type of mountain Aravalli is ? 144. 3Wac 8 YN & Yoid 1 I & 7

(A) Folded mountain (A) AR v9a
(B) Block mountain (B) Y9l uad
(C) Relict mountain (C) 31afire vdq
(D) Volcanic mountain (D} SE@gE! Tefq

145. Which of the following personalities of  145. 39|39 & frfafas | ¥ #9 W Ao
this state was pioneer in the field of HGAIGH % & H GO o1 ?

emancipation of untouchables ?

(A) Pt Sunderlal Sharma (A) . gatars ot

(B) Pt. Madhavrao Sapre (B) 4. HIHEwda |y

(C) Pt. Ravishankar Shukla (C) H. Uaui=r goa

(D) Pt Kunjbihari Agnihotri (D) 9. Foifeert Af=RE

146. In which place the port was found in  146. fHY T ¥ g WM W a=<0E W g1

Sindhu Civilization ? 272

(A) Lothal (A) wheE

(B) Kalibanga (B) Hreits
(C) Harappa (C) =&

(D) Larkana (D) . S

I

147. During the Revolt of 1857 whetof the 147, 1857 ¥ fage ¥ o Frerfafad § @ =1

following was the leader of Indian sepoys feeett | st fawfea = S @2
in Delhi ?

(A) Tatya Tope (A)] dren ey

(B) Kunwar Singh (B)| e fHs

(C) Bakht Khan (C) == E

(D) Maulavi Ahmadulla (D) Hiewdt steageen
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148. To which countries the ancient Indian  148. WM ST % &R frafafas § @ fayg

businessmen used to go for their < T SR HE W 97
business ?

(A) Egypt (a) i

(B) Rome (B) W

(C) Alexandria (C) fam=f

(D) Al of the above (D) 3T gt

149. As per the vedic literature the tax given  149. 3f% wifees HTER, S §R1 TS 1 fgu

to the king by the people is called : ST STt ST T T ST o
(A) Revenue (Rajasva) (A) T

(B) Kingdom tax (Rajkar) (B) ==t

(C) Sacrifice (Bali) (C) ==t

(D) Part (Ansh) (D) &w

150. At which of the following places the ~ 150. =¥ ¥ wed [gwa 9 sy, 1942 =

Congress leaders of this state were efafen 4 P e wm = i
arrested on 9th August, 1942 while ol iR 7 ) 2
returning from Bombay ? '
(A) Nasik (A) wifgw
(B) Malkapur (B) WY
(C) Pulgaon | ~ (C) yemd
(D) Nagpur g P PR
-o0o0- : -00o0-
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Note :
1.  This Questiof=Booklet consists Parté namely : .
1. First Part *Child Development & Pedagogy :1-30
2 Second Part : Hindi I : 31-60
3.  Third Part : English _ : 61-90
4 Fourth Part : (A) Mathematics/Science 1 91-150
(B) Social Studies | :91-150

Choose any one subject from (A) and (B). {

Indicate your answers on the OMR Answer-Sheet plOVldEd

No negative marking will be done.

Use of any type of calculator or log table and mobile phone 1s prohibited.
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